:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

National Testing Agency

Question Paper Name :

B ARCH Ist Sep 2020 Shift 2

Subject Name : B ARCH
Creation Date : 2020-09-01 22:08:49
Duration : 180
Total Marks : 400
Display Marks: Yes
Share Answer Key With Delivery Engine : Yes
Actual Answer Key : Yes
B ARCH

Group Number : 1
Group Id : 405036110
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 400
Is this Group for Examiner? : No

Mathematics
Section Id : 405036370
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036715
Question Shuffling Allowed : Yes
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Correct Marks : 4 Wrong Marks : 1
Let A={1, 2, 3}. Define a relation R on A

as :
aRb = |a2—b3=5.

Then which of the following is not true ?

R~ 1=R, where R ! is the inverse
of R.

Range of Ris A.

R is reflexive and symmetric.

R is symmetric and transilive.
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A A={1,2,3} ¥l AW UF T=4 R =
‘s{mtrfiwfﬁﬁ‘%:
aRb = |a>—b%=5

A1 fret § | =1 o9 9o T8 2 ?

R-1=R, &=l R~ 1 R =1 ufa«id

{i_mrerse}%l
R 1 9@ A ¥
R TEqed a1 {HiAd 2

R THfHd q41 ST ¢ |

RS A={1,2,3} 8. Auz i R¥
aRb = |aZ—-b2 =<5,

Yool gl sl dl ARl Ul g e
-4l ?

R I=R, sl R T 2R o iz 8.

RAl [z A 8.
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40503637343, R 2l 2eells il WA 9.

R 2 [ 24 wWuld 8.

The locus of the pnint

z=x+1iy (x,yel{,i =4/ 1} satisfying
ag(23)-12,
& - 318

a circle with radius .=2J§

a circle with centre at {uﬁ : ﬂ}

a circle with centre at [ﬂr Eﬁ} and
radius 3

an ellipse withlength of its minor axis
— q
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uw 9 foman = (V3, 0) 2

ek g foraa % (0, 243 ) wen e
321

U g faas o A8 F TE=EE 3 8

z—3 T . i :
arg | ——— | = 3 o Wl s2q €l e [Ag

z=x+iy {x,yel{,f=v'r_1}ril[‘\':lﬂﬂﬁ
2.3 Bisadl i 315 ada B,
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(0, 24/3) Jrgeusi 2 3 Bl =i
40503637347, ¥ "

sl SRl doud =3 €M dell »is
Guaax ©.

If both the roots of the equation,
x?—2ax +a®—1=0(ae R) lie in the interval
(—2 2), then the equation,

x2—(a2+1)x— (a2 +2) =0 has

both roots in (— 3, 0)

one root in (0, 2) and another root in
(=2,0)

one root in [2, 3) and another root in

(—2,0)

one rootin( — 3, — 2) and another root
in (0, 2]
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Afg FHEF, ¥2-2ax+a2—-1=0(ae R) &F
HI gel, S (-2, 2) ° €, a1 wE,
x2—(a2+1)x—(a2+2)=0:

FEH gA (—3,0) H T

=1 T HA (0, 2) F a9 THA HA (-2, 0)
T2

%1 TS T [2,3) H a9 SHA qA (~ 2,0)
2

F TH g (-3, —2) H 991 THT gA
(0,2] ® 21

s UH{[5201 x2 — 2ax + a2~ 1=0, (a e R) -l vid
ofloy @idzd (-2, 2) i €y, dl wHlszel
x2—(a2+1)x— (@2 +2)=0:

AL i oflsy (-3, 0) 4l 8.
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o @5 ofler (0, 2) ui 2 oflyf oflor
40503637350, (—2 0 ©.

o @i ol [2, 3) e oflsyg ofley
(—2,0) i 8.

o 25 olley (—3, —2) i 2 ollsf oflsy
(0,2] Hi ©.

[f the system of equations
x+y+pz=-1
x—-2y+z=q
5x —8y+9z=>5

has more than one solution, then q—p is
equal to :
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Question Number : 4 Question Id : 40503610251 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Afe T
2x+y+pz=-1
x—-2y+z=q
5x —8y+9z=>5

= =

FUFH ATHEAS, dq-p TR T :

s, #1520 Hld

2x+y+pz=-1
Ix—-2y+z=q
5x —8y+9z=>5

A 25 sl oy Gdl g, dlq —p =
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40503637353. 2

All the words (with or without meaning)
formed using all the five letters of the word
GOING are arranged as in dictionary. Then
the word OGGIN occurs at the place which
is :
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Correct Marks : 4 Wrong Marks : 1
=2 GOING & 941 5 23478 =1 ¥IFT F4d 20
A T FH VIS (9 F S14EA 8 A1 1 A
), Yy F HATER sgated Ty e A
=5 OGGIN /= ¥ 9 f9 =™ ® s ?

(48) =i
(49) =i
(50) =i

(51) =

GOING 21281 Wiy 2221 Guilel 5304 el
LI 210Gl (212 5 22z(éd) 2eesiel wHel
AL, OGGIN 216% 541 22Ul 2 ?

5.1:8 Hl

49

5{]‘41
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The sum

2 2 10 18 26

infinity, is equal to :

9
8

kv

24

11
24

o |

=+ =+ -+ =
3 92 g3 g4 o’
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24
11
24
5
8
SRR

Py 12y 000 TN

el e
3 92 93 94
el yell= ;

372 P

26

9
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9%

www.FirstRanker.com

www.FirstRanker.com

o] ;

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

kv

40503637362. 2

11
24

o |

Let r and s be respectively the remainders
when (12)** and (23)'? are divided by 5,
thenr+s isequal to:

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Correct Marks : 4 Wrong Marks : 1

=4 (12)2 qem (23) 12 %61 5 | farfsrd foan sman
T @ FEY: WIESA r A s B, o r+s AH

£

o T 2l s 2 245 (12)2 244 (23)12 A 5 4
oLl HAedl T €, ol r+s=

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 8 Question Id : 40503610255 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let fbe a differentiable function satisfying
flx+y)=f(x)+fly)—xy forall x, y e R. If
Jim L) |

10
lim =——— =3, then % f(n) isequalto:
h—0 h 2 () q

n=1

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice .
www.FirstRanker.com

THI f U STAHCHE Fed ¢ 5 T 1,1 ¢ R
T, flx +y) = f(x) + fy) — xy T Fg= F
. . .

2 aﬁ:#ﬂ}fi—]=3%,ﬁ1 ?;{n}w

n=1
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BRLS £ @l Ucds x, e R 4R
S ty) =) +fly) —xy 4 WA sq s

Rsala BAu d. i lim L& — 3§ Al

h—0 h
=
> foy=— .
n=1
55
2
25
2
55
4
25
4

For non-zero real numbers a, b, if

PO o hx%
Y(x) = ——=—,x>0and y’(5)=0, then

x4

theratioa:bis:
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40503637373, N3 3

.3:1““{5

V5:43

YW Fria® = a 99 b & fag 9fe
. 5
a+bx?2

y(x) = , x> 079 y'(5)=0%F &

_-r:l

U a b FA T :
s
3:45
V5:43

3:1
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

h? ’ a 'I:'-:-c-':ii s

s ¥(X)=—=—,a beR, x>0
x4

y'(5)=0¢, dloelidza:b=

JE:S
.3:«“@

B

The function f(x)=sin2x+ 2cosx,

'x ( Y f?ﬂl
© ey T L
1’ 1) 1as

no critical point.

a point of local maxima and a point

of local minima.
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a pnint of local maxima and a p::rint

40503637379, Of inflection.

a point of local minima and a p::rint
of inflection.

e f(x) =sin2x + 2cosx, x&[ ? 3_“]

4
<l :
F1E i T & T
uw fog T sfae & a9 wE fag
Ty fafers 7

% fag o st # aa =
Aferafiad fag &1

uw fag T fAfEs 2 9o s
Afquftady fag 2
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(<l flx)=sin2x + 2cosx, Xe Tr I

a:
(Rl g -l
25 22l Her (B 2 2l 2l
dx [6F .
25 22l U g 2 2is Aldllg
8.
25 A Y (G 21 2is AldGg
.

. j cos”0 o
The integral sin0(4 — 3 si.ﬂZZH} is
equal to :

(where C is a constant of integration)

1 cos> 0
— log,

i
5

5i115 0+ c::-55ﬂ|
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. 6
sin~ B
sin }H:

1
4 8 {sinﬁﬂ F cos®o
40503637382.

1 | sin> 0 |
— 1 + C
20 o |5ir15[! t c055{1|

' 6
llﬂge[ cos B -W*C

6 sin®0 + cos®0 |

j cos>0 4o %
WHIDS J sino(4 — 3 sin220) it &

(S C U% FqFed A E1)

cos’ 0 | Ve

— log
i 5i115[! }c055{1|

5

1 sin®0
— lo . : -
24 Be [sinﬁﬂ | cosﬁl!}

1 sin” 0
g loge FC

sin—H—4—cos—4
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1 50
gloge{t;m ﬁWFC
40503637384 st

) j‘ cos’0 4o
U ) sin0d — 3sin220)

(sl C 2 Hsarirl 2R0is 9.)

5
cos~ b |
3 +C

—lo
sin~ 0 + c055{1|

5

-
l b :m 0 _ P
24 sin” 0 + cos®H

PP | sin’0

20 s |5i.1'15ﬂ }c055[1|

' 6
EIDSE{ cos- B 'W*C

sin®0 + cos®0 )

FC
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the region bounded

by the parabolax =2y? and thelinex + y=1

15 :

1
12

3
24

we

W= | L1

TEeE, x =2y 991 ™, x +y=1 5 Has
&5 1 AR (3T THEdl §) €

11
12
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%

40503637386. -

A Rt-2

W= | U

Yreed x =22 ALY + =1 4S U U2l
s=isuL (Al @is3l) .

il
12

13
24

we

W= | L1
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Question Number : 13 Question Id : 40503610260 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let y=y(x) be the solution of the differential

d
equation xlog. x ay F2y =2x (x > 1), If

lim y(x) =1, then y(e?) is equal to :
x—1+

e + 1

AE y=y(x), HAdGFA  HHAHI,

xlog, x jl_y F2y =2x (x > 1) FEA el AfS

lim y(x) =1 A y(e?) = €:

x—=1+
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40503637389, 2

e2 +1

arls  y=y@) A [Bsa  wdlsa

d = b -
xlog. x Ey b2y =2x (x> 1) AL G54 8. e

lim y(x) =1 S, dl y(e?)=

r—l+
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40503637392, € + 1

If (:-;I., yl.}, i=1, 2, 3 are the vertices of an
equilateral triangle such that

(%, +3) 2+ (y; —4)%=(x, +3)% + (y,—4)2 =
(x3+3)2+ (y; —4)2, then the value of
1ty tY .

15
Xi +Xx3 +Xx3

4
3

0o | W

| G

W |
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Ifg T FHag By F o =g (v, ), i=1,
2,3 & fome fau

(x+3)2 + (y —4)?= (1 +3)7 + (y,~ 4)* =

vity2+ys
El
X1 +x3 +x3

(x3+3P+ (13-4 % @

HFI%:

W |

e | G
03 |

e |
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o (x, 1), i=1,2, 3 2 25 yuely Bstenl
wiell RrRUGg & 5 ool
(X1 +3)? +(y; —4)°= (0 +3)* + (y,—4)* =

(I3+3}2+(y3 4}22{[%(_&3”] Fy2 +y3'{l

I] t .1'2 t .1'3
(e 8.
4
3
4
3
3
4
i
4
If tangent at [i LW to the circle
V2' \2)

x2+y?=1 is also a tangent to the circle
(x—a)? + (y —b)?>=1, then the ordered pair

(a,b) can be:

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Options : |
(-2, V2)
40503637397. '
(-2, 242)
(2 242)
(-2, \2)

A yz=1a;m§[%, %]ww:ﬁﬁ

@A, (x —a)>+ (y— b)2 =1t TI9f T
%,ﬁ%ﬁﬁﬂ‘ﬂ(a,h}ﬁlm%:
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(-v2, v2)

40503637400.

od AL x® + 12 = H[t\-lg[( 5

2yals, @i aqul (x—a)2+ (y—b)2=1 -l ual
¥uls @M, ol s44sd sdS (a, b)=
ALY

] wEIAAL
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The foci of a h}fperbcnla coincide with the

IZ 2
foci of the ellipse, —— + £ = 1. If the
16 9

eccentricity of the hyperbola is 4, then its

equation is :

A |
7 105

gl
7 105 16
2y 1
20 75 16
2 _y_1
5 75 16

TF SAfquraea & Tfy ¥, g,

2 2
% | %=1?¥qﬁﬁé‘i%w%| afz
AfTHET FT Sh=dl 4 &, O SHE THE
T
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Options :
g

40503637401, 105 4
2y 1
7 105 16
2 _y_1
20 75 16
o I
5 75 16

25 2ldaaadl sz 24, Gugay

.xz 2 - F - -

it %=1r{lru[clmmﬂml[?ta o

2l 2l Gebegel 4 €, dl d- uxlsza
8.
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40503637402. / 105 16

2 oy 1
20 i 16
o I
5 7D 16

If the plane P : 2x—y+ 3z + 5=0 is rotated
through 90° about its line of intersection
with the plane 5x —4y— 2z + 1=0, then the
equation of the plane P in the new position
is :

27x—24y—26z+13=0
27x—24y—262—-13=0

Ix+2y—22z-13=0

Nx—25y+29z+13=0
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Ffg A P : 2x—y+3z+5=0 H THIA
5x—4y —2z+1=0791 ¥9qa P &l Fid=sad
Y % WY 90° % IV W HMEN Sl 8, Al
4t feafa & ooae P o1 Tt ©

27x—24y—26z+13=0
27x—24y—26z—-13=0

3lx+2y—20z-13=0

3l 25y F20z4+13=0

sl HAAD P: 2x—y+3z+5=0 « dll qudd
5x— 4y — 22+ 1=0 2@l 88 Youel uds 900
2l wRemel sl 2ud, dl 2 Adl Galdu
U P o ae{lsrel 59 )

27x—24y—26z+13=0

27x—24y—26z—-13=0

www.FirstRanker.com
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40503637407, S1¥+2y—Az—13=0

3x—2Dy+29z+13=0

The top of two poles, standing 4 m apart
on a horizontal plane, are connected by a
cable. If the angles of depression from the
top of one pole to the bottom of another
pole are 30" and 45°, then the minimum

length (in m) of the cableis:

||32\a"§ 16

128 — 323

122 -32.3

3
3
3
3

(112 -3243
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Question Number : 18 Question Id : 40503610265 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Afas 71 W 2 =@ 4 Hiet # g W HY |
% forer ol =1 U= el (cable) BRI STET
TR A UH T e F T e+
S F ST F 30° FA45° F A FAA Fi
g o=s (AL H) €

132./3 — 16

U

(128 - 32 .3
V3

g e O B )

3
(112 — 32 %
3
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wis wH[Eldsy Wudd Uz 2is oflsazd]l 4 2l 2R
Goial o Al 2l 215 drdl sdsd .
sd 215 Aol 2l oflsd aiteAL doll-
ALAUSLEL 30° 24 45° €, ol dRedl Yy
doud (+lez «i) Sl

||32~j'§ 16

128 — 32 3

3
3

122 -323
3

112 -32.3
\ 3
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Let A, B and C be three events such that

the probability of occurrence of exactly one

1
of A and B is 5 the probability of

occurrence of exactly one of B and C is i

and the probability of occurrence of exactly

1
one of C and A is e If the probability of

occurrence of all the three ewvents

1
simultaneously is 16" then the probability

that at least one of the three events will

OCCur is :

w|~

15
16
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

AT &9 9298 A, B 991 C 39 UFH ® 6
= = = = (& 1
A ATB H ¥ 9 UF F 29 F gIaFd > ,
e m = = ~ 3
B A« C H 9 51 Us & 2 FI 9l + T,
e m e L . 1
aﬁicwanqmﬂwa?aﬁmmﬁlmg
| It 99 T2 e F UF 91 EH I WEEa
1 = L ne e me o m = =
ﬁ%,ﬂTE‘IﬂWHHSHHHWHEHTﬁ?EE
M F 9w B

ey
ﬂ~.|““~"

w|~1

15
16
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

QAL S A, B2 C 2 2l =0 szl & 5 seedl
A i B il e21043 2557 U2l e ol 2oL

1 % : “ i
E,Bwﬂcmﬁl RIR Diger B2l o ol

. 3 . .
Aot dfll C 2 A Wizl “1e43 2i56¢ el

'ﬂ-l-{d-{l%{{*utt-uziﬁ. s 2L 201, szl 28

M1 A el Heus-L P S, dl 2 =el wiEl

UL 2] 25 Yzl v d-l Heus-l

w|~

15
16
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Question Number : 20 Question Id : 40503610267 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let

p : T have passed JEE (Main),

q : My JEE (Main) rank is 100, and

r: I will appear in JEE (Advanced)

be three statements with truth values

T,Fand T respectively. Then which one of

the following has the truth value, F ?
(~pv ~qQnar
®A~qVv(~1)
(~pv @ A(~1

.{'- p M l:” LY
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Ikl
p : ¥ JEE (Main) T =2 fomn €,

q : ¥ JEE (Main) # ¥ (Rank) 100 & e
r : ¥ JEE (Advanced) =T Titeqm gm

o FoH 2, Foeh e e T,Faan T |
A= A R g F 2

(~pv ~QAr

PAr~qQvV(~1)

(~pv @A(~19

(~prgvr

HIRLS

p : % JEE (Main) Glrel 53l 8.

q : "L JEE (Main) Al G[xel 5305 100 8. 24
r: § JEE (Advanced) ¥l ®l121 €91L.

ol o/l Uil Yedl s T, F oA T €l
244l 8L (AL 8. ol =2 U] 5l Hewial

YA F 897
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Options :
o W s AT
40503637417. p )

®PAr~QV(~1)
(~pv @ A(~1

(~pr@vr

Let B= [22 26] be the matrix obtained
6 10

by applying the elementary row operations

Ry, »R,-R,, Ry 528, and

-RI — Ry —2R5 (in this order only) on a

matrix A. Then the sum of all entries of A

is

www.FirstRanker.com
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5 to0 5.002

Question Number : 21 Question Id : 40503610268 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ifg =8 A W YRieE qfem d@fwans

Ry =R, 2R, (Faa gHl 0 H) F W4 A
o : -
aﬂa[gﬂz[ﬁ m}mm%,mﬂm

[l 319941 (entries) T AMTFHA & |

5t05.002

Question Number : 21 Question Id : 40503610268 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

gells A Guz walis  er-ulsai
Ry, »R,-R,, Ry 20, 2
Ry = R;—2R, (21 s4ui o) s2di sells

s . .5 R .
B=[6 m]ma&. dl =ells A Al wal

Y2 slHl A= 108
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
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Question Number : 22 Question Id : 40503610269 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

For beN, if the limit of the function

[[5x — 4], x <4
.Hﬂz‘fi[leb]r el

when y — 4, exists and [t] denotes the

greatest integer =t, then b is equal to

5t05.002

Question Number : 22 Question Id : 40503610269 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

[[5% —4], x=<4

beN F fad, wem f{x}=i[x e

FI HH Ay s 4 T AT € S ]
TEad YUk <t F ST €, o b TR ¥
|

5 to 5.002

Question Number : 22 Question Id : 40503610269 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

i

[5x — 4], x <4

od beN, W2 [ax f(x) = J[x k b]

4y — 4 MR @kccd 4, sl [1] qeTH
yells <tgUd ®, dib= 2L,

o ot |

S ta 5002

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 23 Question Id : 40503610270 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If S = {xe[0, 4]: sin2x — cosx = 0} and the
sum of the elements of S is k, then k is

equal to

5t0 5.002

Question Number : 23 Question Id : 40503610270 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

g S = {xe0, 47]: sin2x — cosx = 0} & q=m

=4 S % O FAFTFE1 1 AR ker 8, Ak

TEE |

5t05.002

Question Number : 23 Question Id : 40503610270 Question Type : SA Display Question Number : Yes
—€orrectMarks—4-Wrong-Marks—0
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S = {xe[0, 47]: sin2x — cosx = 0} €14 2
S Al "eslidl sl kw adl ¢ld dl
k= GICH

5 to 5.002

Question Number : 24 Question Id : 40503610271 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the mean of the numbers

7, =5, —2,x,51s —1, then the variance

of the numbersxy —3,4x, x +3is

5 to 5.002

Question Number : 24 Question Id : 40503610271 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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Afe g@mei -7, -5, —2,x, 5H A ~ 178,
d "Emal x—3, 4y, x+3 F1 I ©
|

51t05.002

Question Number : 24 Question Id : 40503610271 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

sl WvUR —7, -5, —2,x, 5l Heus —1 €™
dlx—3,4x, x+3 < Qe 210

5t0 5.002

Question Number : 25 Question Id : 40503610272 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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If the equation of a plane P passing through

the point Lo ), F ok is

e

r [2: j I ﬂkw =3, then the length of
J

the perpendicular [rom the pnint

1i J:r - 3k on the plane P is

5t0 5.002

Question Number : 25 Question Id : 40503610272 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

T

i v THaa P, s fag J, v T B

S & R ¢ -[2? i aﬂ - 3%
A

& fag 47 ; | .Sﬁﬁﬂqaal”ﬂglﬁﬂt{
I Tl AT ¢ |
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Possible Answers :
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Question Number : 25 Question Id : 40503610272 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

B 745+ & ol v ol wdad P o

— Y M, .f--h‘.I - - -
wilszel r -[2:‘ j +ak| =3 i, dllig
b 4

4i — j +3k Wil P Gur £Re derdl dews

= 214,
5t05.002
Aptitude Test

Section Id : 405036371

Section Number : 2

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 50

Number of Questions to be attempted : 50
—Section Marks : 200

Display Number Panel : www_EirstRanker.com Yes
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Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036717
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 40503610273 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

5%
-
L,

-~

-
g
-
S
{

T B
l J
N
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40503637429.

3- DU 2Agld 215 dadd 2 i 8. sraed suglapimizl 2uq 42 Guil 24 (top view) 1AL
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40503637429.

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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40503637433.

3 - D WY AHTG H UF 9% F U Y9 I (G@E T ¥ | SHE T S g, S SATRfadl § 9
TEEH |
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3 - DU 2gld 25 dadd 2t i 8. sraiet 2uglainisl wuq 202 Guil £ (top view) 1AL
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40503637433.

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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40503637437.

3 - D W99 STH(d H U 9% & UF 599 fouan T ¥ | THH WE S 9, S Ao § 9
ey |
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40503637437.

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer [ igures.
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3 - D WA ST | U 9% % UF 999 H ol T ¥ | THH WEl S g9, S Ao 3 9
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3- D U 25l 21 s 22 cdid 8, sralet 2uglazimizl »uq w2 Guzl 224 (top view) 2ULEL

.-""m"-\.

[, ._f"
s 1,.—"’ .,
o e oy

_.-

o .-"
r__.-"‘l'\-\. H"Rh

({i

£

.l'

.l' .l'
.l'

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

40503637441.

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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3 - D W Tfa § U 9% F UF ovF I fommn W ) sHE WE S 99, SW S fadi § 9
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3 - DU 2gld 215 dade] 2t il 8. sraiet 2uglaimisl wuq 202 Gusl 24 (top view) 2L
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Which one of the answer [ igures is the correct mirror image of the prr:nhlem f igure with respect

60X —X7?
x
ez
) b
[ o,
—
X
i
":_-\;I—_ " |
2 3
= 5
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40503637449.

IR AHGEl H F wiF G apfa < T 991 Shfa X - X ¥ gt g2 i gfafae 22

X
=7
e
X
Y}'l"- s
g
S h
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40503637449.

spedlet g [zl 58 wugld, s et suglad X - X Al wrie, 9 sde w[le (mirror image) £ 7

X
== _-__.:"I
i oL
X
0z
>
‘E_; —-':._-___::_
Z
o
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40503637449.

Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X7?

By

X

A B [

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

i

40503637453.

I SAFTaE § F FA G ST & T A9 G X - X 3 gretud gé g9 gfatae €2

5y

X

E e

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

i

40503637453.

r

sretlol 2 [zl 59 2ugld, 2uua ue 2uglad X - X AL 1eig, @z edel wldliet (mirror image) &7

Ry

X

) B BY

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

i

40503637453.

Which one of the answer [ igures is the correct mirror irnage of the pr::rh lem [ igure with respect

toX-X?
X
<X
/‘-»H-'(,-"
7
X
%}_}_ﬁ;:?lu
Vi
."I:\ I'.'{i
\ig’-ﬁ;;k
N
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IR AHTE H F FE W SFA < T T SH FX - X T = w2 g giata 22

x
> A
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x
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=7

N (f/,h
s _k.___ ]

N J-l
N

40503637457.

seelled 2l [azimial 58 2ugd, 2ana ues suglad X - X AL uriz, 29 2de uldlde (mirror image) &7

X
I -I}’fl .
A
BT
N
X
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40503637457, Le—

Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X?

574

[ R
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40503637461.

I SAHfTE H W FA T A <O e St # X - X H grEad 9@ g9 v g2

14

X

e
i
e
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40503637461.

[+

seelled Al [zl 59 2us(d, 2ana ue 2uglad X - X Al arig, w9 el ulqaleiet (mirror image) 97

574

X

e
i
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e

40503637461.

Which one of the answer [ igures is the correct mirror image of the pmhlem [ igure with respect
toX-X?

\L

I
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IR AHTE § T A G SF < T g9 S X - X 3 g g2 g gfatae 22
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40503637465.

seelled 2atglazimizl 58 2ugld, 2aa U sugldd X - X AL urig, «09 2400 uldlet (mirror image) &7

X

I
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Find the odd figure out of the problem figures given below.

o0

P
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Question Number : 36 Question Id : 40503610283 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Find the odd [ igure out of the prcrblem figures given below.
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Find the odd [ igure oul of the prnhiem figures given below.
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Find the odd [ igure out of the prnblem figures given below.
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] A
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Find the odd [ igure out of the prnhlem figures given below.
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The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

40503637486.

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

3 - D 9¥ 3fd H U 9% F UF 399 H fom@mn g | 9% H foun ¥ 2wy g, oo agm e
I AFGE H F TE= |

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 41 Question Id : 40503610288 Question Type : MCQ Option Shuffling : Yes Display Qu
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Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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:
L

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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Question Number : 44 Question Id : 40503610291 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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Question Number : 44 Question Id : 40503610291 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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Question Number : 46 Question Id : 40503610293 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the answer figure will complete the sequence of the three problem figures ?

- -
S A
LR e S a5 BN . Y
0TI ?
{_: i." L ,:ﬁa..-":.f -.‘_:-\ (""-\‘ ___,-"",:’
b AN
""ﬂ-\_:;_lr' ‘\_“_F-___.-.-

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

I SAFTE H W FA = SAF F A T AF G H T H STTFA (sequence) T 2 S ?

P A A
/! ﬂh.?'“- AW
Frrad J.-'"‘:H'“-‘ i {"'f(",,i,f' ™, 7
; :J_ P _,r"l_ A \V_.J-\_"‘xx H
g\':{ £ Hu'._,l" \.‘ \ (A\.‘_ _i__.-"':_.a"'
~7 / WA ) M
e
L5

www.FirstRanker.com



:l » FirstRanker.com

Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

r

secled ig[asiHiEl 58 wugld wuta 2wt wugldzi-l Sell yel 527

s

o, .-" -
.-"Ir:"r H_:-H'm ..-""' - "\} \: _‘
AN Ty ;?
{-'! Ji /37 % v L '
.-"r_- ¥ -'HHJ-':,." l"\ % L.—'“- -___;. ':'_-.
L L ! AR '\v’ -
."'\-\._H"'-.\_\_H y / N N
el A

Which one of the answer figure will complete the sequence of the three problem figures ?
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Options :

40503637510.

T SAFTE H W FA = SAF F A T AFGE H T H STTFA (sequence) T 2 SR ?
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Which one of the answer ﬁgu re will cnmplete the sequence of the three prnhlem ﬁgures 7
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Question Number : 48 Question Id : 40503610295 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the answer figu re will cnmplete the sequence of the three pr::-hlem figures ?
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Which one of the answer figure will c::-mplete the sequence of the three prc-hlem figures ?
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V) )

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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40503637526.

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Options :

40503637530.
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Question Number : 52 Question Id : 40503610299 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Question Number : 53 Question Id : 40503610300 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Question Number : 53 Question Id : 40503610300 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 53 Question Id : 40503610300 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 54 Question Id : 40503610301 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Question Number : 54 Question Id : 40503610301 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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40503637541.

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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40503637545.

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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40503637546.

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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Options :

40503637550.
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 58 Question Id : 40503610305 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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40503637555.

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Question Number : 60 Question Id : 40503610307 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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The White House is which one of the
following ?
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Options :

Residence of Prime Minister of

40503637566, °CTAY

Residence of Prime Minister of France
Residence of Prime Minister of Spain

Residence of President of USA
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In the Northern Hemisphere the summer
sun rises from which one of the following
directions ?

MNorth East
MNorth West
South East

South West
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Question Number : 63 Question Id : 40503610310 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which of the following States is the
Golden Temple located ?

Haryana
Punjab

Assam

N agala_nd
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What is the thickness of a one and a half
brick thick wall ?

,9.”'

12"

18"
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Question Number : 65 Question Id : 40503610312 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one amongst the following supports
the masonry above doors and windows ?

Foundation

Lintel

Slab

Wooden frame
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dssi-l 54 (Wooden frame)

The Leaning Tower in [taly is located in
which one of the following cities ?

Florence

Venice
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Which one of the garden of the following
is a terraced garden in Srinagar ?

Nishat
Vrindaban
Buddha

MNehru
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What amongst the following is the name
of the famous museum in Hvderabad ?
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40503637594, Lalaknuma

Salarjung

Gandhi

Nizam
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Options :
40503637594, 5L

{1221
el

[Hary

Which one of the color is made when blue
and }rellow are mixed ?

Violet
Orange

Green

White

2) o1 T 3 'P{:ﬁ:rmi‘rrmé")
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Options :
40503637598, AT

GLalll

ol 24 ol 320 Hoell 41 391 otAlesEl 2ue
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Which one of the following color suggests
love and romance ?

Blue
Green
Pink

Brown

e & § 4 %19 9 % @R 3T A9 a6
=erdl 2 ?
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

AlZAmiAL 4L 390 UM 2 T (romance)
Hud 87
cuguil

el

auv{llzal

Which one of the following suggests the
texture of the skin of the elderly persons ?

Glnss;v
Wrinkled
Smooth

Soft
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Question Number : 71 Question Id : 40503610318 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

= 8§ F\ W g9 Afaadl F1 == i
FATEE 1 YA a1 & 7

HHEER

Fier

Al 2522421 (texture) Higll Mie sl sl
Al 252 2 )

HU5EIR

seadlai]

clly
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Question Number : 72 Question Id : 40503610319 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is fixed to drain
waler [rom a slnpf_ng roof 7

Ridge
Eave
]. Bolt

Gutter

= 4 4 F19-91 % 5 =1 94 9 e &
o faa e T &7
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40503637613, 1%

gl & vzell wella [ e A2imisl o
ULSAHL 28§

H™ (Ridge)
<4 (Eave)
o. iz (J. Bolt)

AR (Gutter)

Which one of the [ D]l::-wing isideal ﬂDDri_ng
for a cinema hall ?

Granite

Brick
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40503637616, Marble

Carpet

freafafaa 3 3 =/ w farm 2 & fou e
R E?

(. dla w2 lAAamial s siualhen
(flooring) Hie 242l &7
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-
40503637615, 9°

SER TN ENEEY)

el

Who among the following is the architect
of the Punjah Har}rana High Court
Building ?

Maxwell Frj,r
Le Corbusier

Louis Kahn

Geofl rey Bawa

ToE A 3= TEed 969 F1 angEn
A dasag?
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Hegael

40503637618. BT
(_:k{ = i ﬁ
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Which one among, the r:-]]nwing is used for
water conservation ?

Water drainage
Water evaporation
Water harvesting

Water flowing

el T F fou f=fafad 3 9 6 @ g1@m
fra s 2 ?

EEAREA
T ST
o 9991

EGREI
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

orUl ARGl U Al el Gyt sl
e 5
s [Hs1d (Water drainage)
st AloeA (Water evaporation)

e HUY (Water harvesting)

sl Helle (Water flowing)
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Question Number : 76 Question Id : 40503610323 Question Type : SUBJECTIVE Display Question Numbc
Correct Marks : 50

In the space provided for the answer of this
question, draw an aesthetic composition
appropriate to this space using triangles
and rectangles. There is no restriction to
numbers, sizes, placement and directions
of these shapes. Color this composition so
that it becomes visually exciting,.

TH 4 & 3T & ol Y[ &1 T e H,
fon vd Al #1 SUER FE TH T™H &
U Sugs U Wied WEA AR FL1 =
T FE gfqad 921 €1 T3 =51 Fl 10 § dif
7z gfte ¥ IMmi= 8 9|

2L UL srlled U2 AU 994l 23Y, $5d
[Esiell 24 dorizdi-l Gualol 52, 215 e 2l
Az 53 2L 2RIl Qv 58, dlsaell =i
(E2ull wr sid HuieL 2l 2 -l 20 Y3 s
oy ¥l o sAsHl Ui @bl
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Correct Marks : 50

Draw from imagination a gardener

working in the garden.

OR
Draw from imagination a scene of a place
for praying.

OR

Draw from memory your best friends face.

9 | F1H F4d g2 UF HIell & FHodd 9 T

o9 79 |
AT

FHeT | WA & oY U S 59 F4 |
AT

=i ¥ A HIY T SR &1 99 a9 |
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